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Answer all questions

Each question is followed
in pencil on

Give only one answ

by four o
your answey Sheet fh(’ answ

erto each question, An example is given below,
What is the gmallcst number which is divisible by 16 and 207

A.8

B. 40

C.120

D. 160

1€ correct answer is 80, which is lettered A and ther.

Think carefy y before yoy

shade the answey
Do all rough work on this

D
Spaces. Erase completely an answer you wis
question papey. :
Now answer the Jollowing

ptions A to D. Find out the correct
er space which bears the same letter as. the option yoy

option for each question aug

de
ave Chosey,

efore answer space A would be Shaded,

10 change,
questions
12 in.
; Find the area of the cuboid whose net is shown below. am.

A. 300 ip2 n

B. 144 in?

C. 240ip e

D. 288 in2 L P |

2. The distance-time graph below shows the motion of 3 students, Jane, Indira and Charlotte in 5
race. Select the alternatiye below that correctly orders their finish places in the race,
ock |
E seof— | .
L - r i g TR S .
= 4of}—— | e ,
2 Tin1\g (s) 0P =

A.  Janeis 1% Indira is 2™ and Charlotte js 3t .

B. Indira 1%, Jane is 21 apq Charlotte ig:3d

C. Charlotte 1, Indira js ond and Jane is 3

D.  Charlotte 1*, Jane is 2" and Indira jg 31 |

3. The scale below is balanced. If each of the small cubes on the left weigh 2kg and the large

ones on the right weigh p kg each, find the wieght of the large cubes, _

A. p=4kg : .

B. p=6kg B

58 p=8kg

D. Pp=5kg -

4. The quantity 8,134,592 can be read as \

A.  Eight million, one hundred thirty-four thousand, five hundred ninety-two,

B.  Eight million, one hundred fourty-three thousand, five hundred ninety-two.

C; Eight million, one hundred thirty-four thousand, five hundred niqety.

D Eight million, one hundred fourty-three thousand, five hundred ninety-two.

) .
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iz.wh Sh;g ¢ below stands for a number, Calc7ulate the missing value.

B. . 68 @~ & - 32

& 5 /4 -G-8
Ifk=§+':72, find k when m = - 8 and n{;/*/‘ e
A. 13§

B. 113

c. 133

3
1

D. 11;

The line — graph below gives the ratio ofrhn
; ports to exports for a company from 2005 to 2011.
In how many of the given years were the exports morelzhan the impor’?s? g

is

= = esp

::: ‘ 125@//

2

g 1.0

S 0s —oosa /

2 06955 N/
0.a V4
0.2

Year >

0.0 : .
2005 2006 2007 2008 2009 2010 2011

AW -

A.
B.
C.
D. _

Find the missing numbers in the sequence 35420, 35415, _, 35405,

A. 35410, 35400 ‘
B. 35412, 35402
_ ¢ 35413, 35,403
D. 35414, 35404 4
Solve for x in the equation (27)**! = —
3
A. X = Z
Bo X = ; y
. X = ;— &
D. X = 3 .
Which of the following can explain the graph below?
red
20 J
154

-
)

O green

vvvvvvvvvvv
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2.

14.

-
hJ

S

Simp!ify 2v18 ~ V72 + 3v50, leavin

8

A. For every 2 green sweets, there is 1 red sweet
B. For every 5 green sweets, there is 1 red-sweet
C. Forevery | green sweets, there are 5 red sweets
D. For every 1 green sweet, there are 2 red sweets
An inscribed figure is a shape drawn
A, outside another shape.
B. wider than the original shape.
C.  inside another shape. F: B
D, smaller than the original shape, s
In the diagram below, the bearing of the point B from A i
A, 3400 ; :
B. 220°
&) 140°
D. 50° , .
The amount of encrgy (E), released when matter is converted to energy is proportional tq
mass of that object, When E = 9 x 1013 Joules, m = 1 x 10-3 Calculate the mass, in kg
when E = 18 x 1075, Give your answer in standard form, \
A, 2x107t R
B. 2x10-2
64 2x1073 .
2x10* |
A 72-metre-long TOpe 1s used to form a rectangle so that the length is twice its width. Which of
the fol]owmg 1S the reéctangle with the correct dimensions?
A.
. : Eh. sl
12m i
22m
B.
10m B
20m i
12m
24m
D.
15m
30m

g YOour answer g 5 surd,

-41Z
442
€. 5 =343
D. 3V2
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"Which of the following is not true? ’
A, G0
.
- B s 12
2- 5
C. s 15
2.1
D. 3 15

1. In the figure below, Lance is 5 ft tall and hi
o sh;mlowzx‘s) ?;2 ft long. What is thehelght of tshseh:'(ei:';v ﬁ 8 ft long. At the same time of day atree’s
eet . .

. B. 24 feet :[j SRR, T W
e ot AP AR T
. D 51 feet AL .
?_ : fruit ;&dor sold 20% of 1 500 oranges in s basket How many oranges-are left in the basket?
' § B 600 i :
C:
D. 1200
{ Factorize completely 1 - 16y
A (-4 @-4y)
i B. (1+4y) (4 +4y)
T ¢ (+4y)(-4y)
- D. (1-4y) (dy-1)
=()andn=(7) findm+2n
A QD Wi
B. () "
c. (3)
p. () | < :
The diameter of a human red blood cell is about 8 micrometers. Write this.in a standard form.
A 8x1073 S L
B. 8x107°
C. 8x107°
D. 8x107%?
Given that 9™ = 3™*>, ﬁnd the value of m
A, 4
B. 3
C. 2
D. 5

Find the set A U B in the Venn diagram below.
A.  {20,21,22,23,24,25,26,27,28, 29}
B {567891011121314}

g- {15, 16, 17, 18, 19, 20, 21,22, 23, 24}

{10, 12, 14, 15, 16, 18}




24.

26.

27.

29.

10

. 3
Simplify T,
4-2v3
A. : o
B. 2V3 &
C. 4-2v3
D. 6-3V3

foiig.2. 2.2 ¢ smallest to the largest.
Order the fractions 53+ 7c from th?l.gma :

3 .18
45— &
i
T B
B. 2J<:< = é
5 .8 .3 By
C e % : 7
; 1_5 3 2
R 51
27x102x3 5
Vil
! £
% 3 %
B. 1
1 e -
D n 5
- 18 % T :
An STC bus travels 4km fegs i twice the distance travelled by
; ‘WICe the ‘ yaVIPbus.ThetotaI
travelled by b th b :
. 298)l'<m Oth buses is 890km, C?culate the distance travelled by the STC bus.
B.  592km :
 a 590km 5
D.  600km Sy
Find the surface area of a cubojd of sides 15m
A 261m? Y 12mby 3m
B.  360m2
C.  540m?
D. 522m? ;
77ze Pie chart bejow shows the dzlvhibution of cro
answer question 29 and 3 ‘ /crops on aJarm of area 250 hectares Use it to
Find the area of the plot with cory
A. 486
B. 62.5km
C. 53km
D. 83.3km




ORI NINANS e

30

31

32.

11
What fraction of the farm is planted with pepper?

OIN e Sl Wik

A
B
C.
D

The pic chart below shows the numbet of vehicles parked outside a supermarket. Angle AOB i-
aright angle. Given that there were 60 vehicles, how many vans were there?

A. 15

B. 20

£ 25

D. 30 2 <

The table below shows the number of doughnuts sold in a box and the corresponding prices.
Number of doughnuts 6 i 12 18

Price (Ghy) ] 15 [22 33

Following this pattern, how much will it cost to buy 24 doughnuts?
A. GH¢39.00 |
B. GH¢42.00 -

A GH¢45.00

D. GH¢48.00 ey R

Write 0.00000101 in a standard fo m

A. 1.01 x 10°¢ i

B. 10.1 x10™¢ ‘

C 1.01x10°

D. 10.1 x 10° H

How many lines of symmetry has the flower petals shown below?

R
B. 3 QY

C. s ®

NG . .
The number of fish in a pond is increasing at the rate 4"~2, where n is the number of months.

How many months will be required to produce a total of 1, 024 fish in the pond?
A. 10 months | '

8 months
A 7 months
D 9 months

Turn ove:
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PARSERN S

36‘

37.

38.

39.

40.
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The weight of 5 cubes of sugar is shown below. Calculate how much each cube sugar weig
A 120 '?
B. 600
B 620
D. 124
SR ITE hs S e
Simplify 5-2—- v
5x3-5
A 6
Sx?
B. =
10x2
= S
5x245
D. e
From the graph below, the point (-1, -1) is the solution to which set of linear equations?
g »
A y=-§x+3.y=§x—3 L‘:L*\‘ N | 1 3=
B Y=4x+3y+x+2=0 T | —t—t 1
C y=—1,y=—§x+4
' D. Y=-2x+2,y+2x4+2=¢ i N
In general, if the bearing of B from A js 6, then the bearing of A from B, the back bearing is
L (180° + 6°) if 6 is less than 180° _ »
1I. (6° - 1R0°)if 9 is greater than 18(°
L (360° — 0°) if 6 is less than 360° -
A, I only
B. II only
. Iand IT only ¢
’ IT and 111 only
Make q the subject of the relation w= ?
_n-1
A. g= =
-li2
B. g 1+w
= 01
C. q s
n
D. g= ooy

END OF PAPER



“which ofthe following is not true?

R

P OR > s

Hn

wluu\'inalwo-l
"
= S R A

In the ﬁgure below Lance is 5 ft tall and his shadow
l'l\' shadow is 32 ft long. What is the height of th et - is 8 ft 1ong. At the same tuneordny,atee':

SR W 20 feet
| \ B. 24 feet
\C. 29 feet
D. . 51 feet ‘ : ' ——3rm DS
0, . o : ' -
18 . 2 fruit ;gnodor sold 20% of 1,500 oranges 1n a basket. How manyorangesare left in the basket?
'B. 600 | | | '
G 900
D. 1200

19. - Factorize completely 1 - 16y2
A. - (1-4y)(4-4y)
B. (1+4y) (4 + 4y)
-G (1+4y)(1-4y)
D. (1-4y)@dy-1)

. Ifm=(})andn=(" o) ﬁndm+2n e s th B * -y
P o SRR &
B. 4)
C. (_34) 3
. (3 .
2. The gj is
.‘ A agu:(telroo_t'aa human red blood cell is about 8 micrometers Wntg this in a standard form.
B. 8x10-6 &
- G 8x10™ ‘. ... . o & BT ek
n D 8x10712 3 i ' 4 L ‘
iﬂ.ven tl;at 9™ = 3™*5 find the value of m
B. 3
38
D. %

Find the set AU B in the Venn diagram below,
120,21, 22,73, 24,25, 26, 27, 28, 29}
{5678910 11,12, 13, 14}

{15, 16, 17, 18, 19, 20, 21, 22, 23, 24}
{10, 12, 14, 15, 16, 18}

D,
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24,

28.

29.

10
n 3
Simplify Y
A 4-:6
B. 23
C 4-2V3
D. 6-3V3 _
ared 1 8 the largest.
Order the fractions e from the smallest to 2
$ _1_§
= 5%
1.3 _ s
o PR
5 S ..% "
C RS s < 3
% | 5 3
e
27x10%2x3
Evaluate 103x8.1x9
) 1
A. =
B 1
: 9
1
e F
1
D %

An STC bus travels 4km less than twice 'the, dis

travelled by both buses is 890km. Calculate the distance travelled by the STC bus.
A.  298km : : ;

B. 592km

C 590km

D. 600km :

Find the surface area of 2 cuboid of sides 15m by 12m by 3

A.  261m?

B.  360m2

C.  540m?

D.  522m?

answer question 29 and 30

Find the area of the plot with com,
A.  48.6km

B. 62.5km
5 5.3km
D 83.3km

1 aminnoe s Yuliliaec

tance travelled by a VIP bys. The total distance

ey
&

RN ¥ o e
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What fraction of the farm is planted with pepper?
30. .
A. 3
1
B. g
1
| C s
1' 2
' D. -

The pic chart below shows the number of vehijees

ed outside a Supermarket, Angle %
31 a right angle. Given that there were 60 vehicles, how many vans were there? A0B

Bicycles °
A 1 5 Cars “
B. 20
c 25 Vam
D. 30
3. The table below shows the number of doughnuts sold in a box and the corresponding price:
Number of doughnuts 6 ~ {19 18
Price (Gh¢) 1§ 3 24 33
Following this pattern, how much will it cost to buy 24 doughnuts?
A.  GH¢39.00 _
B. ' GH¢42.00
C. GH¢45.00
D.  GH¢48.00

8. Write 0.00000101 in a standard form
A 101x 10-6 -

_ "““mtiu 2&1 bbeko

B. 10.1 x 10-6

C  1.01x105

D. 10.1 x 106 _
% How many lines of symmetry has the flower petals shown below?

L Q)

B. 3 Q3

£ s @N >
~ D, 7 .

5 The numbper of fish in a pond is increasing at the rate 4*2, where n is the number of months

How Many months will be required to produce a total of 1, 024 fish in the pond?
A 10months v
i g 8 months
; g ; months |
| months : .
i sy Turn o
{
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36, The wright of 5 cubes of sugar is shown below. Calculate how much each cube of sugar y, h

O | N
S

A. 120
B. 600
C. 620
D. 124
3. Simplify == - 125
A Sx? -—5
) 6
p =
6
c. o
: 6
D 5x245

v i v .
38.  From the graph below, the point (-1, -1) is the solution to which se; of linear equations?

A. y=—§x+3,y.=§x—3 e T il “/ 1 B
B. y= 4x+3y+x+2 0 = 7

C. Y—-ly——-x+4 - : 7

D. y=-2x+2,y+2x+2= 0 ' _

39.  In general, if the bearing of B from A is 6, then the bearing of A from B, the back bearing is
L (180°+ €°) if 6 is less than 180° i
IL. (6° — 180°)if ¢ is greater than 180°
L (360° — 8°) if 6 is less than 360° :
A. I only
B. II only
L. I and IT only
D. II and 111 only e

40. Makeq the subject of the relation w = =T

END OF PAPER
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